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Array = Block of storage - Uniform
Predefine its size a

Accessing af] takes same anoint⇒
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Swap at] & alj]
My = yin

a fit , alj]= all] ,ali] - should not depend
mi
List Sequence of

"cells
"

that are linked together ,
like a train

☒→☒→FE - .



Each cell wud be far away from its neighbours

Accessing VD is proportional to i

lli
, llj] = lfj ] ,

Eli] - cost depends on
i &j

Why use a list ?
Flexibility

Adding & deleting elements easily



Array a. [0--99] Currently , using a [0--49]

Insert a new value after a ☐

all] - - aka] also] acid . -
alla]

I
Need to make space
shift alba)→ also]

afar→ Hiiishifting valves µ :

afs☐→ a 2)deputy oui
a[31] = V



Delete a fit]

ah . . always
'

Iqa]

Need to shift to ensure contiguous storage, no gaps
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I Assume we are at ltso] J / Local
Insert v after lfso] [v]
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plumbing
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Dictionaries? Storage is a
V
,
- - Vn are fixed block

,k
,
→ v,

stored in locations like arraykisvz
0 --m-1

,

i but It ma o

kn→Vn fixed order '

Function : ki→ 10 - - m-☐ ,HIE



bxainph key k → mute in binary → number nu

mu mod m → (O - - m-☐

Space of keys is large , the range of locators is small

there will always be wlhsims
-

ffu,) = f-(ka)

strategies to deal with this
- Have a second fukin
- Move to next free toKhon



These finches are called hash functions

hi. large set → Very -Smell Set

Download a software package → get a
"

fingerprint
"

or a
"hash certificate

"

SWA - 256 - output is 256 bytes
= 256 ✗ 8 bits

Dropbox



b. append(a) - fastpytmnksl-7.la insert 10in) - slow
Gxpanhj array
e-:÷i¥-Run out of space


